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Comprehension:
The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table, answer the questions that

follows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O<=Age=13|13=Age=19 | 19=Age=35 | 35<Age=60 [ Age=60

A 18% 12% 24% 30% 16%

B 16% 18% 22% 29% 15%

C| 20% 20% 20% 25% 15%

D 15% 18% 21% 26% 20%

E 18% 15% 25% 24% 18%

Note: a=Age<b means Age belonging to group (a,b]

SubQuestion No : 1
Q.1 If the population of City-C and City-D in the age group of more than 60 years is equal to 24000
each, then what is the sum of the total population of City-C and City-D?

1. 2.4 lakh
2.2.8 lakh
3.3.2 lakh
4. 4.8 lakh

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234678
Option 11D : 34212318209
Option 2 ID : 34212318210
Option 3 ID : 34212318211
Option 4 ID : 34212318212

Status : Answered

Chosen Option : 1




Comprehension:
The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table, answer the questions that

follows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
0<Age<13|13<Age=19 [ 19<Age=35 | 35<Age=60 | Age=60

A 18% 12% 24% 30% 16%

B 16% 18% 22% 29% 15%

C| 20% 20% 20% 25% 15%

D 15% 18% 21% 26% 20%

E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a,b]

SubQuestion No : 2

.2 . . . .
Q If the total population of City-B and City-E are 96000 and 130000, respectively. then the

population of City-E in the age group of (0,13] years is approximately % more than the
population of City-B in the same age group.

1.47.24
2.49.67
3.52.34

4.57.5
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234680
Option 1 ID : 34212318217
Option 2 ID : 34212318218
Option 3 ID : 34212318219
Option 4 ID : 34212318220

Status : Answered

Chosen Option : 1




Comprehension:
The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table, answer the questions that

follows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O<Age=13|13<Age=19 [ 19<Age=35 | 35<Age=60 | Age=60

A 18% 12% 24% 30% 16%

B 16% 18% 22% 29% 15%

C| 20% 20% 20% 25% 15%

D 15% 18% 21% 26% 20%

E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a,b]

SubQuestion No : 3
Q.3 . . . . -
If the population of City-E in the age group of (0,13) years is 16200, then the population in the
age group of (0,13) years of City-E is % of population in the age group of (13,19] years of
City-E.

1. 60
2:75
3.90

4. 120
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234677
Option 11D : 34212318205
Option 2 ID : 34212318206
Option 3 ID : 34212318207
Option 4 ID : 34212318208

Status : Answered

Chosen Option : 1




Comprehension:
The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table, answer the questions that

follows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O<Age=13|13<Age=19 [ 19<Age=35 | 35<Age=60 | Age=60

A 18% 12% 24% 30% 16%

B 16% 18% 22% 29% 15%

C| 20% 20% 20% 25% 15%

D 15% 18% 21% 26% 20%

E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a,b]

SubQuestion No : 4

Q4 If the number of people in city-A belonging to the age group of (19-35] years is 31680, then how
many people are there in the age group of more than 60 years?
1.21120
2.24280
3.23680
4. 19350
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3421234676
34212318201
34212318202
34212318203
34212318204
Answered

1




Comprehension:

The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table, answer the questions that

follows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O<Age=13|13<Age=19 [ 19<Age=35 | 35<Age=60 | Age=60

A 18% 12% 24% 30% 16%

B 16% 18% 22% 29% 15%

C| 20% 20% 20% 25% 15%

D 15% 18% 21% 26% 20%

E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a,b]

SubQuestion No

:5

If the population of City-A and City-B in the age group of (19,35] years are 17280 and 21120,

respectively, then what is the ratio of the total population of City-A to that of City-B?

Q.5
1.2:3
2.3:4
3.4:5
4.5:6
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 ID :

Status :

Chosen Option :

McQ
3421234679
34212318213
34212318214
34212318215
34212318216
Answered

3




What among the following cannot be treated as the role of a teacher?

A. To be strict and fair but not harsh

B. Openly criticize colleagues in public, especially in front of students
C. Hard working

D. Motivates students and encourages them
E. Reports theories and content but avoids explanation
Choose the most appropriate answer from the options given below:
1. A and B Only
2. A, Cand D Only
3.B, Cand D Only

4. C,D and E Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234683
Option 11D : 34212318229
Option 2 ID : 34212318230
Option 3 ID : 34212318231
Option 4 ID : 34212318232
Status : Answered
Chosen Option : 3
Q7 The cost price of two articles is same, one of them is sold at a profit of 13% while the other one is
sold at a profit of 19%. If the difference between their selling price is Rs. 126, the cost of price of
each article is
1. Rs.1800
2.Rs.1900
3. Rs. 2000
4. Rs. 2100
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234696
Option 1 ID : 34212318281
Option 2 ID : 34212318282
Option 3 ID : 34212318283
Option 4 ID : 34212318284
Status : Answered
Chosen Option : 1




Q Which of the following National missions come under the National Action Plan for climate

change?
A. National Solar mission
B. National Water mission
C. National Green Hydrogen mission
D. National Mission for Sustainable Agriculture
E. National Mission on Sustainable Habitat
Choose the most appropriate answer from the options given below:
1. A, B, C and D Only
2.B, C and E Only
3.C,D, E and A Only

4.D,E,Aand B Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234714
Option 11D : 34212318353
Option 2 ID : 34212318354
Option 3 ID : 34212318355
Option 4 ID : 34212318356
Status : Answered
Chosen Option : 3
Q9 In qualitative research, which of the following criteria is concerned with the question do
the findings apply to other contexts?
1. Transferability
2. Credibility
3. Internal validity
4. Confirmability
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234687
Option 11D : 34212318245
Option 2 ID : 34212318246
Option 3 ID : 34212318247
Option 4 ID : 34212318248
Status : Answered
Chosen Option : 2




Q.10

What can be correctly claimed about the following?
“I ate because I was hungry”

1. Its an argument.
2. Its a Non-argument
3. Its a non-argument, it's an Explanation

4. Its a non-argument, it's an Illustration

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
3421234701
34212318301
34212318302
34212318303
34212318304
Answered

3




Q.11

Arrange the following fractions in increasing order-

7

1

13
" 21

Choose the most appropriate answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1.A,B,C,D
2.A,D,B,C
3.D,A,B,C

4.B,D,C, A

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 1D :

Status :

Chosen Option :

McQ
3421234698
34212318289
34212318290
34212318291
34212318292
Answered

1




Q.12 .
If (L), represents a number L in base - 16 number system, then (4AC),¢ + (9BF) 4=

1. (E6B)y4
2. (A7BF)¢5
3.(CEC)y4
4. (D68)1¢
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234706
Option 11D : 34212318321
Option 2 ID : 34212318322
Option 3 ID : 34212318323
Option 4 ID : 34212318324
Status : Answered
Chosen Option : 3
Q.13 According to UGC regulations 2018 on plagiarism a faculty will be denied two successive annual
increments for which of the following similarities in research publications?
A. 42%
B. 58%
C. 76%
D. 62%
E.52%
Choose the most appropriate answer from the options given below:
1. A, Band E Only
2.B, C and D Only
3.A,B,Dand E Only
4. C and D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234689
Option 11D : 34212318253
Option 2 ID : 34212318254
Option 3 ID : 34212318255
Option 4 ID : 34212318256
Status : Answered
Chosen Option : 3




Identify the fallacy committed in the following:
“Ford cars are lemons, I have owned two and they gave me nothing but trouble™.

1. Inappropriate appeal to authority
2. False alternative
3. No fallacy

4. Hasty Generalization

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234703
Option 11D : 34212318309
Option 2 ID : 34212318310
Option 3 ID : 34212318311
Option 4 ID : 34212318312
Status : Answered
Chosen Option : 4
Q.15 . . . . .
Which of the following teaching techniques do not represent modern and ICT based teaching
method.
A. Recitation and Memorization
B. Flipped Classroom
C. Mind maps
D. Chalk and Talk Method
E. Gamification
Choose the most appropriate answer from the options given below:
1. B and C Only
2. Cand D Only
3. Aand D Only
4.D and E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234681
Option 11D : 34212318221
Option 2 ID : 34212318222
Option 3 ID : 34212318223
Option 4 ID : 34212318224
Status : Answered
Chosen Option : 3




a-te In cloud computing, which of the following are the advantages of using cloud storage?

A. Data files of customers stores on the cloud can be accessed at any time from any device
anywhere in the world provided internet access is available.

There is no need for customers to carry an external storage device with them or use same
computer to store and retrieve information

. If the computers have slow internet connection, then they would not face any problems
accessing or downloading their data files

Cloud storage is typically delivered by a cloud service provider

B.
C
D.

Choose the most appropriate answer from the options given below:

1. A, B and C Only
2. A, Band D Only
3. Aand C Only

4. B and C Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234709
Option 11D : 34212318333
Option 2 ID : 34212318334
Option 3 ID : 34212318335
Option 4 ID : 34212318336
Status : Answered
Chosen Option : 1
Q.17 . . . . . .
Arrange the following flagship programmes in chronological order according to their years of
launch.
A. Naya Savera- Free coaching and Allied Scheme
B. USTTAD
C. Pradhan Mantri Jan Vikas Karyakram
D. Maulana Azad National Fellowship
Choose the most appropriate answer from the options given below:
1.D.A,C.,B
2::4A:D:B,C
3.B,C,D,A
4.A,B.C,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234718
Option 11D : 34212318369
Option 2 ID : 34212318370
Option 3 ID : 34212318371
Option 4 ID : 34212318372
Status : Answered
Chosen Option : 1




18 . . .
Q Identify the correct order of the following computer storage capacities A-E from largest to

smallest capaity (1 K= 1024)

A. 1000000 K Bytes
B. 100000 M Bytes

C. 1 T Bytes

D. 10000000000 Bytes
E. 100 G Bytes

Choose the most appropriate answer from the options given below:

1.E.C,B,D.A
2.A.E.B,D.C
3.D,C,E,B,A
4.C,E,B,D,A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234708
Option 1 1D : 34212318329
Option 2 ID : 34212318330
Option 3 ID : 34212318331
Option 4 ID : 34212318332
Status : Answered
Chosen Option : 4
Q.19 ) ) o
The amount of rainfall required to saturate the soil is known as.
1. Field Capacity
2. Soil Moisture content
3. Soil Moisture deficit
4. Wilting Coefficient
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234711
Option 1 1D : 34212318341
Option 2 ID : 34212318342
Option 3 ID : 34212318343
Option 4 ID : 34212318344
Status : Answered
Chosen Option : 4




Q.20

Match the List-I with List-II

LISTI
Concept

LISTII
Description

A unit by which the course work is measured. It defines the number of hours

A. |Academic year | L ; : :
163 of instruction required per week

I Papers taught under the programme duly defining the learning objectives and
" | outcomes

B. | Credit Point

C. |Credit
D. |Course

L
V.

Two consecutive (one odd and one even) semesters

The product of grade point and number of credits for a course

Choose the correct answer from the options given below:
1. A-IIL B-IL, C-IV, D-I
2. A-IV, B-L, C-II, D-II
3. A-IIL B-1V, C-I, D-II

4. A-II, B-III, C-IV, D-I

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234682
Option 11D : 34212318225
Option 2 ID : 34212318226
Option 3 1D : 34212318227
Option 4 ID : 34212318228
Status : Answered
Chosen Option : 3
Q.21
The acronym *APAR’ for the student ID stands for:
1. Authentic Permanent Academic Account Registry
2. Automatic Personal Academic Account Registry
3. Automated Permanent Academic Account Registry
4. Authentic Personal Academic Account Registry
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234717
Option 11D : 34212318365
Option 2 ID : 34212318366
Option 3 1D : 34212318367
Option 4 ID : 34212318368
Status : Answered
Chosen Option : 1




Q.22

Basic factors of listening are:

A. Self interest

B. Speaker

C. Facts

D. Style of speaking
E. Atmosphere

Choose the most appropriate answer from the options given below:

1. A, Band D Only
2. A, Cand E Only
3.B. C and E Only

4. B, D and E Only

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
3421234694
34212318273
34212318274
34212318275
34212318276
Answered

1




Q.23

Match the List-I with List-II

LISTI LISTII

Word Unique code
A |QUAKE I. |IQDBBI
B. |OFTEN II. [EQIUF
C. |PEACH III. [RTBIJF
D. |IDRIVE IV]PEUDO

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II, C-IIL, D-IV

2. A-II, B-1II, C-IV, D-1

3. A-1V, B-1, C-1I, D-III

4. A-IIL, B-1V, C-1, D-II

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 1D :
Option 4 ID :

Status :

Chosen Option :

McQ
3421234700
34212318297
34212318298
34212318299
34212318300
Answered

1




.24 . . . . .
Q In the context of sentence meaning relationship which of the following refers to 'Expectancy’

1. Asatti
2. Akamksa
3. Yogyata

4. Tatparya Jhana

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234705
Option 11D : 34212318317
Option 2 ID : 34212318318
Option 3 ID : 34212318319
Option 4 ID : 34212318320
Status : Answered
Chosen Option : 4
Q.25 The process of telling research participants of any deception or ruses used in a study, is known as
1. Active deception
2. Passive deception
3. Dehoaxing
4. Desensitization
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234686
Option 11D : 34212318241
Option 2 ID : 34212318242
Option 3 ID : 34212318243
Option 4 ID : 34212318244
Status : Answered
Chosen Option : 1




Q.26

Match the List-I with List-II

LISTI LISTII
Type of variable Example
A | Nominal I. |Happiness level
B. | Ordinal II. |Height
C. |Interval III. |Blood group
D. [Ratio IV. | Year of birth

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II, C-IIL, D-IV
2. A-II, B-1II, C-IV, D-1
3. A-IIL B-1, C-IV, D-II

4. A-IV, B-1II. C-1, D-II

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 1D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
3421234690
34212318257
34212318258
34212318259
34212318260
Answered

4




.27
Q According to National Credit Framework (NCrF), the credit level earned after obtaining

Bachelor's degree (three years of undergraduate programme) will be

17
2.535
3.6.5
4.5
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234716
Option 1 1D : 34212318361
Option 2 ID : 34212318362
Option 3 ID : 34212318363
Option 4 ID : 34212318364
Status : Answered
Chosen Option : 4
Q28 Match the List-I with List-II
LISTI LISTII
Jackson's learning style Description
2 : Responsible, rational learners. endowed with an urge to explore the
A |Haghsensationsecker | .1 world so that positive goals can be achieved
Goal oriented Learns from their mistakes, possess a scientific. detached and
B. S II. |autonomous learning style, processes information in an emotionally
achievers Z :
intelligent-manner
€: ]IEn!:le?;ii‘g):natllzchie\'er III. | Gets involved in new challenging activities
D Conscientious v One who sets learning goal which are generally hard and specific and
* | Achiever * | has confidence to achieve the goals.
Choose the correct answer from the options given below:
1. A-II, B-III, C-I, D-IV
2. A-III, B-IV, C-II, D-I
3. A-IV, B-I, C-IIL, D-II
4. A-I, B-III, C-IV, D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234684
Option 11D : 34212318233
Option 2 ID : 34212318234
Option 3 ID : 34212318235
Option 4 ID : 34212318236
Status : Answered
Chosen Option : 2




Q.29

Name the fallacy committed in the following:
“All the textbooks are books intended for careful study. Some reference books are books intended
for careful study. Therefore, some reference books are textbooks™

1. Fallacy of Illicit Minor

2. Fallacy of Illicit Major

3. Undistributed Middle

4. Fallacy of four terms

Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 1D
Option 2 ID
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MCQ
3421234702

1 34212318305
: 34212318306

34212318307
34212318308
Answered

1




Q.30

Match the List-I with List-II

LISTI LISTII
Mass media Example
A |FM I. | The Tribune
B. |Newspaper II. |Rediff com
C. | TV Channel III. |Radio Mirchee
D. |Internet IV. |CNBC

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IIL, B-II, C-I, D-IV

2. A-III, B-1, C-1IV, D-II

3. A-L, B-II, C-1V, D-III

4. A-I1, B-I, C-III, D-IV

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3421234695
34212318277
34212318278
34212318279
34212318280
Answered

2




Q.31
First printing press in India was established at:

1. Goa
2. Kerala
3. Tamil Nadu
4. Bengal
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234691
Option 11D : 34212318261
Option 2 ID : 34212318262
Option 3 ID : 34212318263
Option 4 ID : 34212318264
Status : Answered
Chosen Option : 4
Q.32 L . .. . .
A ship is approaching towards a shore, when it is 32 miles from the shore, a plane having speed
15 times that of the ship is sent to deliver supplies. How far from sea shore does the sea plane
catches up with the ship?
1. 30 miles
2. 25 miles
3. 15 miles
4. 10 miles
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234697
Option 11D : 34212318285
Option 2 ID : 34212318286
Option 3 ID : 34212318287
Option 4 ID : 34212318288
Status : Answered
Chosen Option : 2




Q.33

Groundwater is specially prone to excessive hardness due to.

1. Calcium and Sodium ions
2. Calcium and Magnesium ions
3. Sodium and Magnesium ions

4. Potassium and Calcium ions

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234712
Option 1 ID : 34212318345
Option 2 ID : 34212318346
Option 3 ID : 34212318347
Option 4 1D : 34212318348
Status : Answered
Chosen Option : 4
Q.34 . . . ! .
Which of the following are correct in the context of Artificial Intelligence as one of the
innovations in evolution system?
A. It is a software system used for automated scoring
B. “AI technique is applied to learn how an instructor grades a problem/response
C. It is the final authority about the student's performance
D. The instructor evaluates a sample set of students responses and ‘AI’ system creates a
computer model incorporating rules inferred
E. Presently, most of the higher educational institutions in the country employ “AI’ based
evaluation system.
Choose the most appropriate answer from the options given below:
1. Aand B Only
2. A, Band C Only
3.C,D and E Only
4. A, B and D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234685
Option 1 1D : 34212318237
Option 2 ID : 34212318238
Option 3 ID : 34212318239
Option 4 ID : 34212318240
Status : Answered
Chosen Option : 4




Q.35

Arrange the following events in the order of their occurrence starting from oldest to the recent.

A. Bhopal gas tragedy
B. Fukushima disaster
C. Chernobil disaster
D. California Smog

E. London Smog

Choose the most appropriate answer from the options given below:

1.D.E.B,A,C
2:E; €A B.D
3. D, E;AC; B
4.E,D,A,B,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234713
Option 11D : 34212318349
Option 2 ID : 34212318350
Option 3 ID : 34212318351
Option 4 ID : 34212318352
Status : Answered
Chosen Option : 2
Q.36
A major defect of the sargeant plan was
1. Integration of education with economic institutions
2. Emphasis on social sector
3. Too much importance to technical education
4. Highly selective admission to colleges
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234719
Option 11D : 34212318373
Option 2 ID : 34212318374
Option 3 D : 34212318375
Option 4 ID : 34212318376
Status : Answered
Chosen Option : 3




Q.37 . . C . .
The main purpose of establishing Television in India at the initial stage was:

1. News
2. Entertainment
3. Education and awareness among the rural population

4. Scientific development

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234692
Option 1 ID : 34212318265
Option 2 ID : 34212318266
Option 3 ID : 34212318267
Option 4 ID : 34212318268
Status : Answered
Chosen Option : 3
Q.38 o
Arrange the sequence the 5 Cs (Elements) of communication
A. Compassionate
B. Curious
C. Compelling
D. Concise
E. Clear
Choose the most appropriate answer from the options given below:
1.A,B,C,Dand E
2.B.A.C,D,and E
3.E.D.C.Band A
4.D.E,C,Aand B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234693
Option 1 ID : 34212318269
Option 2 ID : 34212318270
Option 3 ID : 34212318271
Option 4 ID : 34212318272
Status : Answered
Chosen Option : 3




Q.39 . . . . I .. .
Microsoft PowerPoint comes with several categories of built-in transition effects. Which of the

following is not a type of transition effect supported by Microsoft PowerPoint?

1. Subtle
2. Speed
3. Exciting

4. Dynamic Content

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234707
Option 11D : 34212318325
Option 2 ID : 34212318326
Option 3 ID : 34212318327
Option 4 ID : 34212318328
Status : Answered
Chosen Option : 3
Q.40 Match the List-T with List-IT
LISTI LISTII
Digital India Theme Purpose
A |e-ShodnSindhe | 1. ISa\.:le):cription—based scholarly information (e-books and e-journals) at lower
B. |e-Yantra II. |Robotics outreach project run by IIT, Mumbai
C. |e-Vidwan III. | Expert database and National Researcher's Network
D. |e-Kalpa IV. | Digital-learning environment for design
Choose the correct answer from the options given below:
1. A-IV, B-11, C-II1, D-I
2. A-IIL, B-II, C-L. D-IV
3. A-I, B-II, C-IIL, D-IV
4. A-IL, B-1V, C-IIL, D-I
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234710
Option 11D : 34212318337
Option 2 ID : 34212318338
Option 3 ID : 34212318339
Option 4 ID : 34212318340
Status : Answered
Chosen Option : 3




Q.41
Identify the numbers that occur in the given series:- 0,3,10,21,36,

A.55
B.78
C.99
D. 105
E. 136

Choose the most appropriate answer from the options given below:

1. A, B, C and D Only

[S]

.B, C and E Only
3.C,D. E and A Only

4.D.E,Aand B Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234699
Option 11D : 34212318293
Option 2 ID : 34212318294
Option 3 ID : 34212318295
Option 4 ID : 34212318296

Status : Answered

Chosen Option : 4




42 . . . x . . .
Q Arrange the datasets with following pairs of mean (x) and standard deviation (o) in increasing

order of their coefficient of variation.

AXx=14,0=2-8
Bx=9, o=1:5
Cx=12,0=2-1
Dx=8,0=12

“

Choose the most appropriate answer from the options given below:

1.A,B.C.D
2.B.C.D.A
3.D.B.C.A
4.C,D,A,B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234688
Option 11D : 34212318249
Option 2 ID : 34212318250
Option 3 ID : 34212318251
Option 4 ID : 34212318252
Status : Answered
Chosen Option : 3
Q.43 . L - .
Which of the following is incorrect claim in the context of Vyapti?
1. For Carvakas, it is possible to ascertain that smoke is invariably and universally attended
with fire all the time
2. For Buddbhists, the universal relation between smoke and fire can be ascertained even
without examining all the possible cases
3. For Vedantins, Vyapti between smoke and fire is known to co-exist and at the same time it is
never known not to accompany smoke
4. For Naiyayikas, it is neither easy nor necessary for the formation of a universal proposition
to ascertain any relation of causality or identity between the two phenomenon
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234704
Option 11D : 34212318313
Option 2 ID : 34212318314
Option 3 ID : 34212318315
Option 4 ID : 34212318316
Status : Answered
Chosen Option : 2




Q.44

Which of the following recommended the linkages of Universities with outside autonomous

research organisations?

1. Indian Council of Medical Research
2. Education Commission (1964-66)
3. Indian Council of Agricultural Research

4. Calcutta university Commission

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3421234720
34212318377
34212318378
34212318379
34212318380
Answered

3




Q.45

Match the List-I with List-II

LISTI LISTII
Organism Trophic Level
A |Lion I. | First Trophic level
B. |Trees II. | Second Trophic Level
C. |Fish III. | Third Trophic level
D. | Grasshopper IV. | Fourth Trophic level

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-IV, C-II, D-III

2. A-1IV, B-1, C-1II, D-IT

3. A-IL, B-1II, C-I, D-IV

4. A-III, B-1I, C-IV, D-1

Question Type

:McQ
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

3421234715
34212318357
34212318358
34212318359
34212318360
Answered

1




Comprehension:

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides, it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the years the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

SubQuestion No : 46
Q.46 . . . .
Which groups of dialects are spoken in the western regions of Assam?

1. Goalparia and Dimasa
2. Kamrupi and Karbi
3. Goalparia and Nalbaria

4. Goalparia and Kamrupi

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234724
Option 11D : 34212318389
Option 2 ID : 34212318390
Option 3 ID : 34212318391
Option 4 ID : 34212318392

Status : Answered

Chosen Option : 4




Comprehension:

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides, it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the years the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

SubQuestion No : 47

Q.47
From which language is Asomiya considered to have evolved?
1. Tibetan
2. Magadhi
3. Angika
4. Thai
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status
Chosen Option :

McQ
3421234722
34212318381
34212318382
34212318383
34212318384

: Answered

2




Comprehension:

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides, it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the years the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

SubQuestion No : 48

Q.48
Which group of dialects is spoken in Sibsagar and adjoining areas?

1. Southern
2. Eastern
3. Western

4. Northern
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234723
Option 11D : 34212318385
Option 2 ID : 34212318386
Option 3 1D : 34212318387
Option 4 ID : 34212318388

Status : Answered

Chosen Option : 2




Comprehension:

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides, it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the years the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

SubQuestion No : 49

Q.49 . . . .
What is the official language of the areas under the Bodoland Territorial council?

1. Rava
2. Asomiya
3. Bo-Ro

4. Garo
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234725
Option 11D : 34212318393
Option 2 ID : 34212318394
Option 3 ID : 34212318395
Option 4 ID : 34212318396

Status : Answered

Chosen Option : 3




Comprehension:

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides, it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the years the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

SubQuestion No : 50

Q.50
What is the link language of the region as mentioned in the passage?
1. Asomiya
2. Bodo
3. Nagamese
4. Kamrupi
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3421234726
34212318397
34212318398
34212318399
34212318400
Answered

1

Section : Sociology




If we add ‘measurement error’ or ‘non-sampling error’ to ‘sampling error’, we get

1. Frame Error
2. Total Error
3. Chance Error

4. Response Error

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234740
Option 11D : 34212318453
Option 2 ID : 34212318454
Option 3 ID : 34212318455
Option 4 ID : 34212318456
Status : Answered
Chosen Option : 2
Q.52 . . J . . .
The term used to refer to simple counts of the frequencies with which the various categories in
each set occur in the data is referred as
1. cross-tabulation
2. coding
3. Marginals
4. totalling
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234737
Option 11D : 34212318441
Option 2 ID : 34212318442
Option 3 ID : 34212318443
Option 4 ID : 34212318444
Status : Answered
Chosen Option : 2




Q.53 . . . o . . .
‘A social structure that organizes the residence and activities of people in physicals space’, is

known as
1. group
2. community
3. society

4. association

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234744
Option 1 ID : 34212318469
Option 2 ID : 34212318470
Option 3 ID : 34212318471
Option 4 ID : 34212318472
Status : Answered
Chosen Option : 2
Q.54 . . . . . .
Arrange the following sociol revolutions in chronological order of their occurance.
A. Information Technology Revolution
B. French Revolution
C. Bolshavik Revolution
D. Palace Revolution
Choose the correct answer from the option given below:
1.D,A,B,.C
2.A.B.C.D
3.B,C.A.D
4.C.B.D. A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234771
Option 1 ID : 34212318577
Option 2 ID : 34212318578
Option 3 ID : 34212318579
Option 4 ID : 34212318580
Status : Answered
Chosen Option : 3




Q.55 . . . .
Which among the following are the characteristics of ‘social network groups’?

A. They are often called online communities.

B. They do not involve direct face to face communication.

C. They may not be local and bound to a place.

D. They generate their own language, values, rules and norms.
E. They give members a sense of self and esteem.

Choose the correct answer from the option given below:

1. A, B and C only
2.B, C and D only
3. A, B, CandD only

4. A. B, C,D and E only

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 1D :

Status :

Chosen Option :

McQ
3421234792
34212318661
34212318662
34212318663
34212318664
Answered

1




Q.56

Match the List-I with List-II

LISTI LISTII
Books Authors
A |Nai Talim I. |MN. Srinivas
B. | States and Minorities II. |MXK. Gandhi
C. |On Living in a Revolution and Other Essays | III. |R.K. Mukherjee
D. | The Philosophy of Social Science IV. | B.R. Ambedkar

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IIL, B-II, C-IV, D-I
2. A-IIL, B-IV, C-1, D-II
3. A-I, B-III, C-IL, D-IV

4. A-1IV, B-1, C-1II, D-1I

Question Type :
Question ID :

: 34212318689
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Option 1 ID

MCcQ
3421234799

34212318690
34212318691
34212318692
Answered

2




Q.57
Which of the following risks are created by globalization?

A. The spread of weapons of mass destructions
B. Pollution

C. International Financial Crisis
D. Terrorism

Choose the correct answer from the option given below:

1. A, Band C only
2. A, Cand D only
3.B, Cand D only

4. A, B, Cand D only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234785
Option 11D : 34212318633
Option 2 ID : 34212318634
Option 3 ID : 34212318635
Option 4 ID : 34212318636

Status : Answered

Chosen Option : 2




Q.58 . . . o . .
Arrange the following sociological works on modernity in a chronological order of their

publication.

A. The consequence of modernity (Anthony Giddens)

B. Liquid modernity (Zygmunt Bauman)

C. Risk Society: Towards a New Modernity (Ulrich Beck)
D. Facing up to Modernity (Peter L. Berger)

Choose the correct answer from the option given below:

1.A,B,C,D
2.B,C,D,A
3.D.C,A.B
4.C.D,B.A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234768
Option 11D : 34212318565
Option 2 ID : 34212318566
Option 3 ID : 34212318567
Option 4 ID : 34212318568
Status : Answered
Chosen Option : 3
Q.59 ] )
Phenomenological approach of Alfred Schutz refers to “life world” as-
1. ‘taken-for-granted’ and not based on 'mundane reality".
2. ‘taken-for-granted’ and based on 'mundane reality'.
3. not “taken-for-granted” but based on 'mundane reality'.
4. not “taken-for-granted’ and not based on 'mundane reality".
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234731
Option 11D : 34212318417
Option 2 ID : 34212318418
Option 3 ID : 34212318419
Option 4 ID : 34212318420
Status : Answered
Chosen Option : 2




Q.60

Who refers to two useful concepts in regard to community power structure namely “ power pool™
and “power dispersion™?

1. T. K. Oommen
2. M.N. Srinivas
3. S.C. Dube

4. Rajni Kothari

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234754
Option 11D : 34212318509
Option 2 ID : 34212318510
Option 3 ID : 34212318511
Option 4 ID : 34212318512
Status : Answered
Chosen Option : 3
Q.61

“left-right party divisions reflect the class division in capitalist society™. This view is criticized by
T.B. Bottomore on which of the following arguments.

A. Parties are alliances between a variety of distinctive groups with divergent interests

B. These alliances are stable and this results into permanent development of Splinter groups

C. Political parties are relatively autonomous from their class basis

D. There is often a gap between local class support for a party and the capacity of any
government to fulfil these aspirations at the state level.

Choose the correct answer from the option given below:
1. A, B, Cand D only
2.B, C and D only
3. A, Cand D only

4. A, B and D only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234784
Option 11D : 34212318629
Option 2 1D : 34212318630
Option 3 ID : 34212318631
Option 4 ID : 34212318632

Status : Answered

Chosen Option : 3




Q62 Match the List-T with List-II

Civilization

LISTI LISTII
Type of Society Features
A Hunting and Gathering I Distinct mnequalities. Ruled by Chiefs or warrior kings. Based on
" |Societies " | domestication and subsistence livelihood.
B. | Agrarian Societies e E;s:d on agricultural. Distinct government apparatus headed by a
C. |Pastoral Societies III. |Few inequalities. Differences of rank limited by age and gender.
D Traditional Societies or v Stronger Inequalities. Ruled by the chiefs. Based on small rural

| communites.

Choose the correct answer from the options given below:

1. A-II. B-I, C-IV, D-III

2. A-II, B-IV, C-III, D-I

3. A-III, B-IV, C-1, D-II

4. A-IV. B-1, C-II, D-III
Options 1. 1
2.2

3.3
4.4

Question Type :

Question ID
Option 1 ID

McQ

: 3421234815
: 34212318753
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

34212318754
34212318755
34212318756
Answered

3




Q.63

Match the thinkers with their concepts-

LISTI

Thinkers LISTH
A. | Emile Durkheim I. |Fetishism
B. |Karl Marx II. | Elementary Structures
C. |Claude Levi-Strauss | III. | Discourses
D. |Michel Foucault IV. | Morality

Choose the correct answer from the option given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-1, C-1I, D-III
2. A-1L, B-I, C-1IV, D-III
3. A-Il, B-1II, C-IV, D-I

4. A-IIIL B-1, C-IV, D-1II

Question Type :
Question ID :

Option 1 ID
Option 2 ID
Option 3 ID

MCcQ
3421234797

1 34212318681
: 34212318682
: 34212318683
Option 4 ID :
Status :

Chosen Option :

34212318684
Answered
1




Q.64

Match the List-I with List-IT

LISTI LISTII
(Book) (Author)
A | The Ruling Class I. |Robert Michels
B. |Political Parties II. |Vilfredo Pareto
C. |Elites and Society III. | Gaetano Mosca
D. | The Mind and Society | IV. | T. B. Bottomore

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-1I, C-1, D-II
2. A-III, B-1, C-1IV, D-1I
3. A-I, B-II, C-IIL, D-IV

4. A-IV, B-11I, C-II, D-I

Question Type :
: 3421234806
: 34212318717
: 34212318718
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID

McQ

34212318719
34212318720
Answered

2




Q.65

Match the List-I with List-IT

LISTI LISTII

System Location
A |Rvotwart I. |Princely States of Rajasthan
B. |Mahalwari II. |Madras
C. |Jamindari III. |Bengal and Uttar Pradesh
D. |Jagirdari IV. | Agra and Audh

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II, C-IIL, D-IV

2. A1, B-1V, C-1I1, D-1

3. A-III, B-1V, C-II, D-1

4. A-IV, B-11I, C-II, D-I

Question Type :
: 3421234802
: 34212318701
: 34212318702
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID

McQ

34212318703
34212318704
Answered

3




Q.66
Match the List-I with List-IT

LISTI LISTII
(Books) (Authors)
A. |New Rules of Sociological Method | I. |Peter Winch
B. |Phenomenology of Social World II. | Anthonv Giddens
C. | Studies in Ethnomethodology III. |Alfred Schutz
D. | The Idea of a Social Science IV. |Harold Garfinkel

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-I, D-II
2. A-11, B-1II, C-1IV, D-1
3. A-III, B-1V, C-II, D-I

4. A-IIL, B-1, C-IV, D-II

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234801
Option 11D : 34212318697
Option 2 ID : 34212318698
Option 3 ID : 34212318699
Option 4 ID : 34212318700

Status : Answered

Chosen Option : 2




Q67 Who has theorized the triumph of capitalist democracy in the Cold War - and thus the ‘end of

history’?
1. M. Foucault
2. Francis Fukuyama
3. Daniel Bell

4. Anthony Giddens

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234751
Option 11D : 34212318497
Option 2 ID : 34212318498
Option 3 ID : 34212318499
Option 4 ID : 34212318500
Status : Answered
Chosen Option : 2
Q.68
Important characteristics of Estates were
A. each Estates had a status.
B. The Estates represented a broad division of labour.
C. the Estates were a political group.
D. All Estates had an equal status.
Choose the correct answer from the option given below:
1. Aonly
2. A, Band D only
3. A.Band C only
4. C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234782
Option 11D : 34212318621
Option 2 ID : 34212318622
Option 3 1D : 34212318623
Option 4 ID : 34212318624
Status : Answered
Chosen Option : 3




Q.69

Match the List-TI with List-II

LISTI LISTII
Author Book
A. |Ann Oakley I. | The Second Industrial Divide: Possibilities and Prosperities
B. |T. Piketty II. | The Borderless World: Power and Strategy in Industrial Economy
C. |M. Piore and C. F. Sable | III. | The Sociology of Housework
D. |K. Ohmae IV. | Capital in the Twenty-First Century

Choose the correct answer from the options given below:

Options 1. 1
2.2
3.3
4.4

1. A-IL, B-I, C-III, D-IV

5]

. A-IV, B-IIL, C-II, D-I
3. A-IIL B-1IV, C-I, D-II

4. A-1, B-II, C-IV. D-IIT

Question Type

Option 2 ID

:MCcQ
Question ID :
Option 11D :
: 34212318722
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3421234807
34212318721

34212318723
34212318724
Answered

3




Q.70

Arrange the following regulations in the chronological order of their year of enactment

A. Child Marriage Restraint Act

B. Prohibition of Female Infanticide Act
C. Hindu Gains of Learning Act

D. Age of Consent Act

E. Bengal Sati Regulation Act

Choose the correct answer from the option given below:

1. Dy By E G A
2.D.A.E,B.C
3.E;D,;B,A;C

4.E,B,D,C.A

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

McQ
3421234773
34212318585
34212318586
34212318587
34212318588
Answered

4




Q.71

Match the List-I with List-II

LISTI LISTII
Concept Explanation
A Svmbolic I The maintenance of power and privilege between social classes from one
" | dominance " | generation to the next.

Social Reproduction | II. | The exercise of dominance through culture and its Mystification.

c. | Habitus I The process by which a society transmits dominant knowledge from one
generation to another

D. Cattural . IV. |Learned dispositions which lead people to behave in certain ways.

Reproduction

Choose the correct answer from the options given below:

Options 1. 1
2.2
3.3
4.4

1. A-I, B-II, C-III, D-IV
2. A-IV, B-IIL, C-II, D-I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Option 2 ID
Option 3 ID

Question Type :
Question ID :
Option 11D :

: 34212318706

: 34212318707

Option 4 1D :
Status :
Chosen Option :

MCcQ
3421234803
34212318705

34212318708
Answered
4




Arrange the following works on ‘gender studies’ in chronological order of their publication.

A. Masculinities (Raewyn Connel)

B. Sexual Behaviour in the Human Male (Alfred Kinsey)
C. The Transformation of Intimacy (Anthony Giddens)
D. Paradoxes of Gender (Judith Lorber)

Choose the correct answer from the option given below:
1.B,C.D.A
2.C,B,A,D
3.A,B,D,.C
4.D.C.B.A
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 3421234772
Option 11D : 34212318581
Option 2 ID : 34212318582
Option 3 ID : 34212318583
Option 4 ID : 34212318584

Status : Answered

Chosen Option : 2

Q.73 . . . . . .
A state expressing, in a variable geometry. the aggregate interests of its constituent members is

called
1. Nation-state
2. Capitalist state
3. Super nation-state

4. Estate

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234752
Option 11D : 34212318501
Option 2 ID : 34212318502
Option 3 ID : 34212318503
Option 4 ID : 34212318504

Status : Answered

Chosen Option : 1




Q74 K. Manheim states that idea emerge from specific sectors of the social world. Therefore, ideas

can be referred as:-
1. inherently limited. one-sided and distorted.
2. not limited inherently, multi-sided and distorted.
3. inherently limited, one-sided and not-distorted.

4. inherently limited, multi-sided and distorted.

Arrange the following sociological works on 'Post Modernism' in chronological order of their
publication.

A. The Condition of Postmodernity (D. Harvey)

B. The Postmodern Condition (J. F. Lyotard)

C. Postmodernism, Reason and Religion (E. Gellner)
D. Images of Postmodernism Society (N. K. Dezin)

Choose the correct answer from the option given below:

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234727
Option 11D : 34212318401
Option 2 ID : 34212318402
Option 3 ID : 34212318403
Option 4 ID : 34212318404
Status : Answered
Chosen Option : 1
Q.75

1.D.B.,A,C
2.C,D,B.A
3.A,B.C.D
4.B,A,D,C
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McQ
3421234769
34212318569
34212318570

: 34212318571
: 34212318572

Answered
3




Q.76 M

atch the List-I with List-IT
LISTI LISTII
Goal of Good Governance How e-government can help

Reduction of cost-associated with travel for citizens to interact

corruption

A |Increasing Transparency I g
& with government
; : : Disclosure of public assets, government budget. procurement
B. |Improving service Delivery IL | . P - & et p
7 information

Putting procedures online so that transactions can easily be
C. | Empowerment of people III. ne pr Y

monitored
D Reducing administrative v Providing new channel to marginalized communities to receive

government services

Choose the correct answer from the options given below:

Options 1. 1
2.2
3.3
4.4

1. A-I, B-II, C-III, D-IV
2. A-1V, B-III, C-II, D-1
3. A-L, B-IV, C-II, D-III

4. A-IL, B-1, C-1V, D-III

Question Type
Question ID
Option 1 ID

:McQ
1 3421234813
1 34212318745
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

34212318746
34212318747
34212318748
Answered

4




Q.77

Match the List-T with List-IT

LISTI LISTII
Book/Substance Author/Discoverer
A. |Population Bomb I. |Sherwood Rowland & Mario Molina
B. | Ozone Layer depleting chemicals | II. |Rachel Carson
C. |Silent Spring III. |Paul Ehrlich
D. | The Waste Makers IV. | Vance Packard

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-IIT, B-1, C-II, D-IV
3. A-IV, B-II, C-III, D-I

4. A-IV, B-1II, C-I1. D-II

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234809
Option 11D : 34212318729
Option 2 ID : 34212318730
Option 3 ID : 34212318731
Option 4 ID : 34212318732
Status : Answered
Chosen Option : 2
Q.78 Who argued that urbanism promotes diverse sub cultures rather than submerging everyone within
an anonymous mass?
1. Fischer
2. David Harvey
3. Manual Castells
4. Louis Wirth
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234747
Option 1 ID : 34212318481
Option 2 ID : 34212318482
Option 3 ID : 34212318483
Option 4 ID : 34212318484
Status : Answered
Chosen Option : 4




Q.79
Who among the following is not associated with “The Chicago School’?

1. Robert Park
2. Ernest Burgers
3. Ferdinand Tonies

4. Louis Wirth

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234749
Option 11D : 34212318489
Option 2 ID : 34212318490
Option 3 ID : 34212318491
Option 4 ID : 34212318492
Status : Answered
Chosen Option : 3
Q.80 . . . . .
'Technology is socially shaped' - which among the following is not correct about this statement?
1. Technological change is conditioned by social factors.
2. Technological design and functions are the outcome of social process rather than of internal
standard of scientific technological rationality.
3. Technological change follows a fixed, linear path, which can be explained by references to
some inner technological logic.
4. Technological change involves controversies, disagreement and difficulties that engage
relevant social groups in strategies to shape technology.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234763
Option 11D : 34212318545
Option 2 ID : 34212318546
Option 3 ID : 34212318547
Option 4 ID : 34212318548
Status : Answered
Chosen Option : 3




Q.81

Match List I with List IT

LISTI LISTII
Books Authors
A. |Magic, Science and Religion| I. [Karl Marx
B. | The Poverty of Philosophy II. |Bronislaw Malinowski
C. | The Structures of Life World | III. | G.H. Mead
D. |Mind, Self and Society IV. | Alfred Schutz and Thomas Luckmann

Choose the correct answer from the option given below:

1. A-IIL, B-1V, C-II, D-1
2. A-II, B-1, C-1V, D-III
3. A-I, B-1I, C-III, D-IV

4. A-IV, B-1, C-1I. D-III

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3421234798
34212318685
34212318686
34212318687
34212318688
Answered

2




Q.82

Which among the following are correct about Parsons' notion of socialization?
A. In the socialization process norms and values of a system are internalized and become part

of the actors conscience.

B. Socialization is a conservative process in which need dispositions bind children to the social
system.

C. Parsons sees socialization as a life long experience.

D. In socialization process, there is little or no room for creativity.

Choose the correct answer from the option given below:
1. A, B.Donly
2.B,C,Donly
3.A,B,Conly

4. A, B, Cand D only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234778
Option 11D : 34212318605
Option 2 ID : 34212318606
Option 3 ID : 34212318607
Option 4 ID : 34212318608
Status : Answered
Chosen Option : 3
Q.83 Social constructionist theorists reject biological basis for gender differences. According to these
theorists-
1. Gender identities emerge in relation to perceived sex differences in society and in turn help
to shape those societies.
2. Gender identities partially emerge in relation to overall sex differences in society and in turn
help to shape those societies.
3. Gender identities do not emerge in relation to perceived sex differences in society and in
turn help to shape those societies.
4. Gender identities emerge in relation to perceived sex differences in society but in turn do not
help to shape those societies.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234765
Option 11D : 34212318553
Option 2 ID : 34212318554
Option 3 ID : 34212318555
Option 4 ID : 34212318556
Status : Answered
Chosen Option : 2




Q.84

‘Capitalism produces wasted population not just the poor and refuges but huge prison populations
and other outsiders.” Who is associated with this statement?

1. Judith Butler
2. Zygmunt Bauman
3. Giorgio Agamben

4. Chrystia Freeland

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234756
Option 1 ID : 34212318517
Option 2 ID : 34212318518
Option 3 ID : 34212318519
Option 4 ID : 34212318520
Status : Answered
Chosen Option : 3
Q.85
Who is the author of the book ‘A Philosophy of NEFA’
1. Virginius Xaxa
2. Surajit Sinha
3. M. N. Srinivas
4. Verrier Elwin
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234761
Option 11D : 34212318537
Option 2 ID : 34212318538
Option 3 ID : 34212318539
Option 4 ID : 34212318540
Status : Answered
Chosen Option : 1




Q.86

Arrange the following regulations in the chronological order of their year of enactment

A. Hindu Woman's Separate Residence and Maintenance Act
B. Parsi Marriage and Divorce Act

C. Caste Disabilities Removal Act

D. Indian Divorce Act

E. Hindu Inheritance (Removal of Disabilities) Act

Choose the correct answer from the option given below:

1.C,D,B.E. A
2.C,B,D,E.A
3.D,C,EA;D

4.B,D.A,C,E

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

MCcQ
3421234774
34212318589
34212318590
34212318591

: 34212318592
Status :
Chosen Option :

Answered
1




Q.87
Arrange the following in chronological order of their publication

A. Models of Democracy (III Edition) (David Held)

B. Understanding Social Movements (Greg Martin)

C. Political Ideologies: An Introduction (Sth Edition) (Andrew Heywood)
D. Power: A Radical View (Stephen Lukes)

Choose the correct answer from the option given below:

1.D.A.C.B
2.B,D,C,A
3.C,B.D. A
4 A.B.C,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234775
Option 11D : 34212318593
Option 2 ID : 34212318594
Option 3 ID : 34212318595
Option 4 ID : 34212318596
Status : Answered
Chosen Option : 4
Q.88
G. H. Mead defines ‘I’ as the:-
1. incalculable, unpredictable and creative aspect of the self.
2. calculable, predictable and non-creative aspect of the self.
3. calculable, unpredictable and creative aspect of the self.
4. incalculable, predictable and creative aspect of the self.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234730
Option 1 1D : 34212318413
Option 2 ID : 34212318414
Option 3 ID : 34212318415
Option 4 ID : 34212318416
Status : Answered
Chosen Option : 1




Q.89

1.7.S. Mills

2. Harold Garfinkel

3. Schleirmacher

4. Robert K. Merton

The origins of hermeneutics philosophy in the modern age are most appropriately attributed to

Options 1. 1
2.2
3.3
4.4

Which among the following is not true about Common Property Resources (CPRs)?
1. These are the resources accessible to the whole community of a village

2. on these resources some individuals have an exclusive property right

4. Common Property Resources are declining in India after independence

3. some of the examples of these resources are village pastures, waste dumping places,
community forests, village ponds, tanks, rivers/rivulets

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234738
Option 11D : 34212318445
Option 2 ID : 34212318446
Option 3 ID : 34212318447
Option 4 ID : 34212318448
Status : Answered
Chosen Option : 2
Q.90

Question Type :
1 3421234760
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Question ID

McQ

34212318533
34212318534
34212318535
34212318536
Answered

2




Q.91
Who is associated with the concept of “humane city’?

1. Richard Sennett
2. Manual Castells
3. John Betjeman

4. Paul Harrison

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234750
Option 11D : 34212318493
Option 2 ID : 34212318494
Option 3 ID : 34212318495
Option 4 ID : 34212318496
Status : Answered
Chosen Option : 1
Q.92 R . e
The term refers to movement away from a residential location either within the same country or
to another country.
1. Immigration
2. Emigration
3. Migration
4. Forced migration
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234748
Option 1 ID : 34212318485
Option 2 ID : 34212318486
Option 3 ID : 34212318487
Option 4 ID : 34212318488
Status : Answered
Chosen Option : 3




Q.93

C. Von Furer - Haimendorf studied intensively the family structures and cultural life of Nagas.
Which group of Naga did he focus in his study?

1. The Ao Nagas
2. The Konyak Nagas
3. The Tangkhul Nagas

4. The Angamis

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234762
Option 11D : 34212318541
Option 2 ID : 34212318542
Option 3 ID : 34212318543
Option 4 ID : 34212318544
Status : Answered
Chosen Option : 4
Qo4 Match the List-I with List-IT
LISTI LISTII
Concept Explanati
A. | Gaia hypothesis L A tl-letoretica{ paradigm that explores the relationship of human culture and
physical environment
A Situation in which our relationship to the environment while yielding
B¢ | Global:Commonsgr s short term benefits, will have profound negative long term effects.
C: Ezgiri?mnmtal III. |Resources shared by all members of the International Community
. . |Planet Earth itself should be seen as a living organism. in which humans
D: | Cultiiral Ecology. |-V and other species each have a vital part to play
Choose the correct answer from the options given below:
1. A-IV, B-III, C-II, D-I
2. A-I, B-III, C-IV, D-II
3. A-IIL, B-II, C-I, D-IV
4. A-II, B-IV, C-I, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234810
Option 11D : 34212318733
Option 2 ID : 34212318734
Option 3 ID : 34212318735
Option 4 ID : 34212318736
Status : Answered
Chosen Option : 1




Q.95

Arrange the following research activities of a research project in a chronological order

A. Writing of the Report

B. Formulation of Research Problem

C. Administering an interview Schedule
D. Selection of the sample

E. Tabulation of Data

Choose the correct answer from the option given below:

I.D.C,E,B.A
2:D;B,;C,E;A
3.B,C,D.E. A

4.B,D,C,E,A

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

MCQ
3421234767
34212318561
34212318562
34212318563

: 34212318564
Status :
Chosen Option :

Answered
4




Q.96

which of the following premises characterize the dramaturgical school of interactionism?

A. Focuses on the ways that actors manipulate gestures to create an impression in a particular
social scene.

B. Emphasizes on the process of impression management and not the purposes or goal toward
which action is oriented.

C. Focuses on the goal orientation and particular structures which create different forms of
interaction.

D. Emphasizes on the form of interaction itself rather than on the structures it creates, sustains
or changes.

Choose the correct answer from the option given below:

1. A.Band C only
2. B and C only
3.A,CandDonly

4. A, Band D only

Options 1. 1
2.2
3.3
4.4
Question Type
Question ID :
Option 1 1D
Option 2 ID
Option 31D :
Option 4 ID :
Status :
Chosen Option :

:McQ

3421234779

: 34212318609
: 34212318610

34212318611
34212318612
Answered

3




Q.97

Following table presents frequency distribution of weights of 265 male students.

Class Interval (weight) | Frequency
90-99 1
100-109 1
110-119 9
120-129 30
130-139 42
140-149 66
150-159 47
160-169 39
170-179 15
180-189 11
190-199 1
200-209 3
N= 265

What is the Mean (X ) of weight of male students?
1.138.5
2.148.74
3.168.75

4. 198.75

Options 1. 1

2.2
3.3
4.4

Question Type

Option 1 ID

:McQ
Question ID :
: 34212318433
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3421234735

34212318434
34212318435
34212318436
Answered

4




Q.98

Match the List-I with List-IT

LISTI LISTII
Method / Developer Example
A |Multivariate Analysis| 1. | Chi-Square Test
B. | Test of Significance | II. | Coefficient of Skewness
C. |Central Tendency III. | Cluster Analvsis
D. |Karl Pearson IV. | Standard Deviation

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-1, C-IV, D-1I
2. A-1V, B-1, C-1II, D-1I
3. A-Il, B-1II, C-I, D-IV

4. A-I, B-IV, C-II, D-III

Question Type :
: 3421234800
: 34212318693
: 34212318694
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID

McQ

34212318695
34212318696
Answered

1




Which of the following are the characteristics of a good sample design?

A. It must result in a truly representative sample

B. It must be such which result in a small sampling error.

C. It must be viable in context of funds available for the research study.

D. It must be such so that systematic bias can be controlled in a better way.

Choose the correct answer from the option given below:

1. A, Band C only
2. A, B, CandD only
3. A, Cand D only

4. B, C and D only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234780
Option 11D : 34212318613
Option 2 ID : 34212318614
Option 3 ID : 34212318615
Option 4 ID : 34212318616
Status : Answered
Chosen Option : 2
Q.100 . . . .
In, ‘The Elementary Form of Religious Life’, Emile Durkheim refutes:-
1. Comteian epistemology as it is based on idealistic and aprioristic assumption.
2. Hegelian epistemology as it is based on idealistic and aprioristic assumption.
3. Weberian epistemology as it is based on idealistic and aprioristic assumption.
4. Kantian epistemology as it is based on idealistic and aprioristic assumption.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234729
Option 1 ID : 34212318409
Option 2 ID : 34212318410
Option 3 ID : 34212318411
Option 4 ID : 34212318412
Status : Answered
Chosen Option : 4




Q.101

A Noniya of Benaras, flees from his village and take refuge to his mother's brother or to his wife's
brother, when he is in trouble in his home village with the dominant landowners. This is because-

A. They are related through affinal ties
B. He has a lot of property with them.
C. He does not want to stay in his own village.
D. They are his biological ties.
E. He feels lonely in his own village
Choose the correct answer from the option given below:
1. C and D only
2. Aonly
3.Bonly

4.D and E only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234796
Option 11D : 34212318677
Option 2 ID : 34212318678
Option 3 ID : 34212318679
Option 4 ID : 34212318680
Status : Answered
Chosen Option : 2
Q.102 . - . . .
Which among the following is not true about the first generation ‘cyber crimes™?
1. use of computers to assess traditional type of offending.
2. Finding information on how to build weapons or bombs may be easier on the internet but
there have been and still are, conventional sources available.
3. First generation cyber crimes were ‘hybrid” traditional offences but within a new global
network environment.
4. Drug dealers employ whatever forms of communication exist and, even in the absence of
computers, would continue to buy or sell drugs.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234764
Option 11D : 34212318549
Option 2 ID : 34212318550
Option 3 ID : 34212318551
Option 4 ID : 34212318552
Status : Answered
Chosen Option : 2




Q.103
Who is the author of the book ‘Tribe to Empire’?

1. Emile Durkheim
2. A. Moret and G. Davy
3. H. Spencer

4. F. Tonnies

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234741
Option 1 ID : 34212318457
Option 2 ID : 34212318458
Option 3 ID : 34212318459
Option 4 ID : 34212318460
Status : Answered
Chosen Option : 2
Q.104 . . . . .
If the purpose of a research is to test a hypothesis of a causal relationship between variables,
which of the following research design is most suitable for such a research study?
1. Formulative Research Design
2. Descriptive Research Design
3. Experimental Research Design
4. Diagnostic Research Design
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234736
Option 1 ID : 34212318437
Option 2 ID : 34212318438
Option 3 ID : 34212318439
Option 4 ID : 34212318440
Status : Answered
Chosen Option : 3




Q.105

Match the List-I with List-IT

LISTI LISTII
Authors Books
A | C. Wright Mills I. | The Lonely Crowd
B. |David Riesman I1. | Who Rules America
C. | G. William Dombhoff| III. [ The Robber Barons
D. |Matthew Josephson | IV. | The Power Elite

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

|

(]

. A-1V, B-1, C-II, D-III
. A-1, B-II, C-III, D-IV
. A-1V, B-1, C-III, D-II

. A-IL, B-1, C-III, D-IV

Question Type :
: 3421234804
: 34212318709
: 34212318710
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID

McQ

34212318711
34212318712
Answered

3




Q.106

The distinction between “culture’ and “civilization can be recognized by distinguishing between
‘material’ and 'non-material culture'. Who is associated with this?

1. A. Weber
2. Arnold Toynbee
3. R. M. Maclver

4. Irving Hallowell

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234742
Option 11D : 34212318461
Option 2 ID : 34212318462
Option 3 ID : 34212318463
Option 4 ID : 34212318464
Status : Answered
Chosen Option : 4
Q.107 . . . . L .
The simplest possible measure of dispersion which is defined as the difference between the
values of the extreme items of a series is called
1. Mean
2. Median
3. Range
4. Mode
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234739
Option 11D : 34212318449
Option 2 ID : 34212318450
Option 3 ID : 34212318451
Option 4 ID : 34212318452
Status : Answered
Chosen Option : 3




Q.108
Who has used the term 'polyarchy'?

1.R. A. Dahl
2. G. Mc Lennan
3. ]. Tronto

4. A. Smith

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234753
Option 11D : 34212318505
Option 2 ID : 34212318506
Option 3 ID : 34212318507
Option 4 ID : 34212318508
Status : Answered
Chosen Option : 1
Q.109 . . . . . .
According to Manuel Castells, the rise of the new global informational economy is accompanied
with emergence of a new ‘network enterprise’. Which among the following is not the
characteristics of the network enterprise?
1. A flexible production and new management
2. An organization based on horizontal model.
3. An organization based on vertical model.
4. The fundamental component of organization is a series of network.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234733
Option 11D : 34212318425
Option 2 ID : 34212318426
Option 3 ID : 34212318427
Option 4 ID : 34212318428
Status : Answered
Chosen Option : 3




Q.10
Who coined the term ethnocentrism?

1. W. G. Summner

2. E. Gellner
3. L. Kuznar
4. E. B. Tylor
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234743
Option 1 ID : 34212318465
Option 2 ID : 34212318466
Option 3 ID : 34212318467
Option 4 ID : 34212318468
Status : Answered
Chosen Option : 1
Q.11

Which is not true about ‘ecocentric view” to address environmental issues?

A. They See economic growth at odds with environmental objective.

B. They believed that by adopting scientific and technical solution, environmental issues can be
addressed

C. They believed that there must be limit to growth

D. The argued that planet is not just for humans but for all living things.

Choose the correct answer from the option given below:
1. A, Band C only
2.B. C and D only
3.A,Band D only
4. A, Cand D only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421234788
Option 1 1D : 34212318645
Option 2 ID : 34212318646
Option 3 ID : 34212318647
Option 4 ID : 34212318648

Status : Answered

Chosen Option : 4




Q.112

Match the List-I with List-II

LISTI LISTII
Concept Explanation
A Ecological I Emphasizes on the combination of industrialization, capitalism and
~ | Modernization " | consumerism has transformed society - environment relations.
B Sociology of I Accepts that “business as usual’ is no longer possible but also rejects
" | consumption " |radical environmentalist solutions involving deindustrialization.
Approach to investigate how some environmental issues come to be seen
C. |Critical Realism II1. | as significant and in need of urgent action while others are largely
ignored.
; Approaches environmental issues in a scientific way, bringing together
Social = . p :
5.2 c 3 IV. | evidence from across the social and natural sciences to understand why
constructionism

environmental problems occur.

Options 1. 1
2.2
3.3
4.4

1. A-L, B-II, C-III, D-I
2. A-II, B-1, C-IV, D-III
3. A-IV, B-III, C-I, D-II

4. A-I, B-III, C-IL, D-IV

Choose the correct answer from the options given below:

Question Type

:McQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

3421234816
34212318757
34212318758
34212318759
34212318760
Answered

2




113 . . . . . . .
Q Arrange the following works on “Family and Intimate Relationships™ in chronological order

A. A Sociology of Family Life (Deborah Chambers)

B. Rethinking Family Practices (David H. J. Morgan)

C. Families in Today's world (David Cheal)

D. The Changing Experience of Childhood (C. Smart, B. Neale, and A. Wade)

Choose the correct answer from the option given below:

1.C.D,A,B
2.A,D,B,C
3.B.C.D.A
4.D.C.B,A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234776
Option 11D : 34212318597
Option 2 ID : 34212318598
Option 3 ID : 34212318599
Option 4 ID : 34212318600
Status : Answered
Chosen Option : 3
Q.114 . . .. .
Which of the following are the characteristics of an ordinal scale ?
A. It places events in order
B. There is an attempt to make the intervals of the scale equal in terms of some rules
C. Rank orders represents ordinal scale and used in relating to qualitative phenomena
D. Ordinal scale only permits the ranking of items from highest to lowest.
Choose the correct answer from the option given below:
1. A, Band C only
2. A, C and D only
3. A, B, Cand D only
4.B. C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234781
Option 11D : 34212318617
Option 2 ID : 34212318618
Option 3 ID : 34212318619
Option 4 ID : 34212318620
Status : Answered
Chosen Option : 2




Q.115

Match the List-I with List-IT

LISTI LISTII
Book Thinker
A | Virtual Communities I. | Alvin Tofler
B. |Surveillance Society II. |Barry Wellman
C. |Personal Communities| III. | Howard Rheingold
D. |Third Wave IV. | David Lyon

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-1V, C-1I, D-I
2. A1, B-1V, C-1I1, D-1
3. A-1, B-1V, C-III, D-1I

4. A-II, B-1V, C-I, D-III

Question Type :
: 3421234814
: 34212318749
: 34212318750
: 34212318751
Option 4 ID :
Status :
Chosen Option :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

McQ

34212318752
Answered
1




Q.116

A man's lineage fellows are literally and figuratively close to him for they are, after all, the
brothers who have separated their fields and hearths but who continue to sustain their fraternal
allegiance. This ambivalence takes place because:-

A. Ideal of lineage solidarity is not so strongly proclaimed as is fraternal ideal.
B. It is not always clear who should be counted as a full linage member.

C. Linage ties lapse after several generations.

D. The member of obligated generations is not specified clearly.

E. A fathers' brother's son who moves to a distant village is a member for ritual purposes but
can not fully participate in corporate activity.

Choose the correct answer from the option given below:

1. B, C and D only
2.C.D and E only
3. A, B, CandD only

4.A.B.C,Dand E only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234791
Option 11D : 34212318657
Option 2 ID : 34212318658
Option 3 ID : 34212318659
Option 4 ID : 34212318660
Status : Answered
Chosen Option : 1
Q117 . - .
Which among the following is not correct about consumerism?
1. Mass production must be accompanied by large scale consumption
2. Consumerism is also a way of thinking, a mentality.
3. Consumption is independent of economic development.
4. Consumption patterns can damage the environmental resource base and exacerbate pattern
of inequality.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234758
Option 11D : 34212318525
Option 2 ID : 34212318526
Option 3 ID : 34212318527
Option 4 ID : 34212318528
Status : Answered
Chosen Option : 3




Q.118

Which among the following are correct about virtual communities?

A. These are self defined electronic network of interactive communities organized around a
shared interest.

B. such communities may be relatively formalized or be spontaneously formed by social
network.

C. They have specific rules and dynamics.

D. Like physical personal network most virtual communities are specialized and diversified.

Choose the correct answer from the option given below:

1. A, Band C only
2. A, CandD only
3.A.B.Cand D

4. Aand D only

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

MCcQ
3421234793
34212318665
34212318666
34212318667
34212318668
Answered

2




Q.119

According to the Islami Law match definitions of the term given which refer to different forms of

property rights
LISTI LIST II

A |Mehr I. | Women have the right to stipulate conditions in the marriage contract

B. |Hedaya e Women enter into pre-marriage agreements regarding their individual property
and access to husband's income.

¢. | Nikahnama m Mark' of respect to the woman which form an essential ingredient of a
marriage contract.

D. | Kabin nama v Women have the right to refuse cohabitation if the husband does not make
prompt payment.

Choose the correct answer from the options given below:
1. A-IIL, B-IV, C-I, D-II
2. A-IIL B-1, C-1I, D-IV
3. A-IIL B-1V, C-II, D-I

4. A-III, B-II, C-1IV, D-1

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234811
Option 11D : 34212318737
Option 2 ID : 34212318738
Option 3 ID : 34212318739
Option 4 ID : 34212318740
Status : Answered
Chosen Option : 2
Q.120 . . s : . .
‘Poverty exists because poor people serve useful functions for society’. Who is associated with
this statement?
1. Herbert Gans
2. Barbara Ehrenreich
3. Banfield and Lewis
4. Oscar Lewis
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234755
Option 11D : 34212318513
Option 2 ID : 34212318514
Option 3 ID : 34212318515
Option 4 ID : 34212318516
Status : Answered
Chosen Option : 4




Q.121

The ‘Precariat” is a new class in the making, it consists of those who are unable to gain access to
the labour markets which offer secure employment and decent wages. Which of the following are
included in this class?

A. Older People

B. Unskilled workers

C. Less qualified young people

D. those who regularly move into and out of work

Choose the correct answer from the option given below:

1. A, B and C only
2.B, C and D only
3.A,B,CandD only

4. A, C and D only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234787
Option 1 1D : 34212318641
Option 2 ID : 34212318642
Option 3 ID : 34212318643
Option 4 ID : 34212318644
Status : Answered
Chosen Option : 2
Q.122 . - . . .
In the Tibetan kinship system there is the existence of Fraternal Polyandry. What are the premises
of this system?
A. Several brothers sharing a wife.
B. Age range of the brothers is often large.
C. Eldest brother is in control as much as father is.
D. Regulated sexual access within the ‘family’
E. No regulated sexual access within the “family’.
Choose the correct answer from the option given below:
1.B,C,Dand E only
2. A, B, CandE only
3. A,B, Cand D only
4.B, C and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234790
Option 11D : 34212318653
Option 2 ID : 34212318654
Option 3 ID : 34212318655
Option 4 ID : 34212318656
Status : Answered
Chosen Option : 3




Q123 Match the List-I with List-IT

Sexual Behaviour of Human Male

LISTI LISTII
Book (Author)
A. | An American Dilemma: The Negro Problem and Modern Democracy| I. |Robert and Helen Lynd
B. |The American Soldier II. |Gunnar Myrdal
C. |Middle Town in Transition III. | Samuel Stouffer
D.

V.

Alfred Kinsey

Choose the correct answer from the options given below:
1. A-IV, B-1, C-III, D-II
2. A-I, B-II, C-IV, D-III
3. A-IL, B-III. C-I, D-IV

4. A-IIT, B-IV, C-IL, D-1

Options 1. 1
2.2
3.3
4.4

Question Type

:McQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

3421234805
34212318713
34212318714
34212318715
34212318716
Answered

4




Q.124

Match the List-I with List-IT

LISTI LISTII
Concept Author
A | Class situation I. | Amartya Sen
B. | Capability Approach II. | Max Weber
C. | The Stages of Economic Growth | III. | Thorstein Veblen
D. | Conspicuous Consumption IV. | W. W. Rostow

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-1V, C-1I, D-I
2. A-IV, B-1II, C-1, D-II
3. A-I, B-II, C-IIL, D-IV

4. A-11, B-1, C-IV, D-III

Question ID
Option 1 ID

Question Type :

McQ

: 3421234808
: 34212318725
Option 2 1D :
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

34212318726
34212318727
34212318728
Answered

4




Q.125

In addition to feeding themselves, peasants use the rest of the produce to create three different

funds
A. Ceremonial fund
B. The replacement fund
C. The rent fund
D. The recreational fund.
Choose the correct answer from the option given below:
1. Aonly
2. A, BandD only
3.A,Band C only

4. C and D only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234783
Option 11D : 34212318625
Option 2 ID : 34212318626
Option 3 ID : 34212318627
Option 4 ID : 34212318628
Status : Answered
Chosen Option : 3
Q.126 . . . . .
According to Neil J. Smelser, the social transformations accompany economic development
which can be defined as growth of output per head of population. Which of the following
processes are necessary for economic development?
A. the commercialization of agriculture
B. modernization of technology
C. industrialization process
D. Urbanization
Choose the correct answer from the option given below:
1. A, B and C only
2. A, Cand D only
3.A,B,CandD only
4.B, C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234786
Option 1 1D : 34212318637
Option 2 ID : 34212318638
Option 3 ID : 34212318639
Option 4 ID : 34212318640
Status : Answered
Chosen Option : 4




127 . . A .
Q Who gave examples of developed systems of administration of justice, particularly among

African Negroes?
1. R.H. Lowie
2. Max Gluckman

3. B. Malinowski

MCcQ
3421234746
34212318477
34212318478
34212318479
34212318480
Answered

2

4. Max Weber
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Q.128 The changing material culture is impacted by the:-
A. Integrated, global capital identities, which determine global economics and influence global
societies.
B. Integrated, global capital network, whose movements and variable logic does not determine
economies and influence societies.
C. Integrated, global capital marketing infrastructure, whose functioning impacts on the various
economies and influence societies.
D. Integrated, global capital currency system, whose movements and variable logic determine
economies and influence societies.
E. Integrated, global capital network, whose movements and variable logic which determine
economies and influence societies.
Choose the correct answer from the option given below:
1. Aand D only
2. Bonly
3.Cand E only
4. E only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McQ
3421234794
34212318669
34212318670

1 34212318671
1 34212318672

Answered
4




Q.129

A social science having as its main focus the study of the social institutions brought into being by
the industrial transformations of the past two or three centuries... (it involves) a historical
anthropological and critical sensitivity. Who has explained this?

1. Edward Said

2. Michel Foucault

3. Manuel Castells

4. Anthony Giddens

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234728
Option 11D : 34212318405
Option 2 ID : 34212318406
Option 3 ID : 34212318407
Option 4 ID : 34212318408
Status : Answered
Chosen Option : 2
Q.130 . - . . . s
Which among the following is not true about the ‘International Treaty on Climate Change’ - the
Kyoto Protocol?
1. It was signed in 1995
2. The developed countries agreed to cut their emissions by an average of 5.2% over 1990
level by the period 2008-12.
3. It also initiated the Clean Development Mechanism (CDM)
4. The CDM allowed industrial countries to get credits to put towards their Kyoto targets by
funding clean energy projects in developing countries
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234759
Option 11D : 34212318529
Option 2 ID : 34212318530
Option 3 ID : 34212318531
Option 4 ID : 34212318532
Status : Answered
Chosen Option : 4




Q.131

Ethnic differences have a bearing on social conflict. In order to understand the scale and intensity
of conflicts between ethnic groups a number of factors should be taken into account. These
factors are-

A. Objective differences

B. Economic differences.

C. Religious differences.

D. Social Awareness.

E. Political Organization

Choose the correct answer from the option given below:

1. A, B and C only

2. A, D and E only

3.B, C and D only

4. C.D and E only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234795
Option 11D : 34212318673
Option 2 ID : 34212318674
Option 3 ID : 34212318675
Option 4 ID : 34212318676
Status : Answered
Chosen Option : 1
Q.132 . . . . . N . .
Arrange the following sociological works on social stratification in chronological order of their
publication.
A. Social Class and Stratification (P. Saunders)
B. Social Class in America (L. Warner)
C. Political Power and Social Class (N. Poulantzas)
D. Class and Class Conflict in Industrial Society (R. Dahrendorf)
Choose the correct answer from the option given below:
1.A,B.C.D
2.B.D,C.A
3.C,B.A.D
4.D.C.B.A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234770
Option 11D : 34212318573
Option 2 ID : 34212318574
Option 3 ID : 34212318575
Option 4 ID : 34212318576
Status : Answered
Chosen Option : 1




Q.133

Match the List-I with List-II

LISTI LISTII
Legal Judgement Ruling
Ruiedivac Vi Sttsiof Supreme Court held that the testimony of the rape victim
A % 1. |should not be rejected unless there are very strong evidences
Rajasthan 1952 <0 e @ e T
mitigating its veracity.
B. |Rafiq Vs. State of UP, 1980 I Sfxprem'e Coqrt held_ that corroborat.n'e evidence of the
woman's testimony 1is not necessary.
Harpal Smgh and gnother Ve: Supreme Court held that in case of rape the necessity of
C. |State of Himachal Pradesh. IIL st N b Aot % P’ 3
1081 corroboration was to be treated only as a ‘rule of prudence’.
D Bharwada Bhogibhai Hirjibhai v Supreme Court held that a woman is used to sexual
© | Vs. State of Gujarat, 1983 " | intercourse is immaterial in a rape trial.

Choose the correct answer from the options given below:

Options 1. 1
2.2
3.3
4.4

1. A-IV, B-L, C-II, D-III

2. A-1, B-II, C-IIT, D-IV

3. A-II, B-IV, C-I, D-III

4. A-IIL, B-1, C-IV, D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
3421234812
34212318741
34212318742
34212318743
34212318744
Answered

1




Q134
Who is not the spokesman for cultural determinism?

1. E. B. Tylor
2. A. L. Kroeber
3. R. M. Maclver

4. Leslie Whyte

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234745
Option 11D : 34212318473
Option 2 ID : 34212318474
Option 3 ID : 34212318475
Option 4 ID : 34212318476
Status : Answered
Chosen Option : 3
Q.135 . . . .
Which among the following are correct about genetically modified crops?
A. Genetically modified crops may reduce the genetic diversity.
B. 'Terminator Gene' was planned to be used by Monsanto company in Genetically Modified
crops.
C. ‘Terminator Gene’ ensured that seeds would be sterile after three generation.
D. Genetically modified crops are resistant to commonly used agricultural herbicides and
pesticides.
Choose the correct answer from the option given below:
1. A, B and C only
2.B, C and D only
3. A, Band D only
4. A, Cand D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234789
Option 11D : 34212318649
Option 2 ID : 34212318650
Option 3 ID : 34212318651
Option 4 ID : 34212318652
Status : Answered
Chosen Option : 2




Q.136 . . . -
Which among the following is not the characteristics feature of indigenous knowledge?

1. Embeddedness of knowledge in the local cultural milieu.
2. Boundedness of local knowledge in space and time.
3. Proper separation between nature and culture

4. A non-instrumental approach to nature

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234757
Option 1 ID : 34212318521
Option 2 ID : 34212318522
Option 3 ID : 34212318523
Option 4 ID : 34212318524
Status : Answered
Chosen Option : 3
Q.137 . . . . . .
Which among the following thinker saw modernity as an ‘unfinished project’?
1. Anthony Giddens
2. Manuel Castells
3. Jurgen Habermas
4. Michel Foucault
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234732
Option 1 ID : 34212318421
Option 2 ID : 34212318422
Option 3 ID : 34212318423
Option 4 ID : 34212318424
Status : Answered
Chosen Option : 3




Q138 According to R. K. Mukherjee, Indian culture is very well blended with various religious texts.

He emphasises that the spirit of tolerance of diversities is reflected in-

1. Rig Veda
2. Atharva Veda
3. Arthasastra

4. Dharmasastra

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234766
Option 1 1D : 34212318557
Option 2 ID : 34212318558
Option 3 ID : 34212318559
Option 4 1D : 34212318560
Status : Answered
Chosen Option : 4
Q.139 . - . .
Which among the following is not true about Weber's notion of ‘Verstehen?
1. Verstehen is a rational procedure of study.
2. Verstehen is simply the use of ‘intuition’ and sympathetic participation by the researcher.
3. Verstehen involved doing systematic and rigorous research.
4. Weber's thoughts on ‘Verstehen” were derived from a field known as hermeneutics.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421234734
Option 11D : 34212318429
Option 2 ID : 34212318430
Option 3 ID : 34212318431
Option 4 ID : 34212318432
Status : Answered
Chosen Option : 2




Q.140

Marxian Dialectics is based on the ideas of:

A. Dialectical analysis does not see a simple, one-way, cause and effect relationship among the
various parts of the social world.
B. Dialectical analysis is based on social values that are not separate from social facts.
C. Dialectical Analysis focuses on relations within and among various aspects of social world.
D. Dialectical Analysis has relation only with the material world and not the social world.
Choose the correct answer from the option given below:
1. Aand E only
2. B, C and E only
3.A,Band Conly

4. C and D only

Options 1. 1
2.2
3.3
4.4
Question Type
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option4 1D :
Status :
Chosen Option :

:MCcQ

1 3421234777
1 34212318601
1 34212318602

34212318603
34212318604
Answered

3




Comprehension:

The process of urbanization should not unilaterally be associated with forces of modernization or
secularization, even though in some limited sense, as stated by Milton Singer and R. Redfield, in
the metropolitan unban centers as growth occurs from the stage of primary (orthogenetic) to
secondary (heterogenetic) urbanization, traditional literati may be transformed into professional
intelligentsia, whose function in the changed circumstances may be to mediate between tradition
and modernity. Urbanization even in the ‘secondary’ phases may strengthen the sinews of the
Great tradition because the communication channels which otherwise could be used for
transmission of modern values, such as modern means of transport, press, radio, sound
amplifiers, etc. are used to further the diffusion of the value system of the Great tradition. Every
step in the intensification of communication thus means not only a benefit to modernity but
equally, or probably more than equally, a benefit to the cause of the reinforcement of the Great
tradition. Cultural renaissance and reformation as processes of change have relevance for Great
tradition. Their significance has been both textual and contextual. Sanskritization as a process of
cultural change has primarily a contextual significance; it is particularistic in origin and therefore
belongs to the little tradition, Sanskritization, above all, describes an empirical process in cultural
change, and has been most widespread.

SubQuestion No : 141

Q.141
The notion of modernity is closely associated with
1. intensification of communication through mass media
2. performance of rituals in temples
3. orthogenetic changes
4. strengthening of Jajmani system
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MCcQ
3421234821
34212318773
34212318774
34212318775
34212318776
Answered

3




Comprehension:

The process of urbanization should not unilaterally be associated with forces of modernization or
secularization, even though in some limited sense, as stated by Milton Singer and R. Redfield, in
the metropolitan unban centers as growth occurs from the stage of primary (orthogenetic) to
secondary (heterogenetic) urbanization, traditional literati may be transformed into professional
intelligentsia, whose function in the changed circumstances may be to mediate between tradition
and modernity. Urbanization even in the ‘secondary’ phases may strengthen the sinews of the
Great tradition because the communication channels which otherwise could be used for
transmission of modern values, such as modern means of transport, press. radio, sound
amplifiers, etc. are used to further the diffusion of the value system of the Great tradition. Every
step in the intensification of communication thus means not only a benefit to modernity but
equally, or probably more than equally, a benefit to the cause of the reinforcement of the Great
tradition. Cultural renaissance and reformation as processes of change have relevance for Great
tradition. Their significance has been both textual and contextual. Sanskritization as a process of
cultural change has primarily a contextual significance; it is particularistic in origin and therefore
belongs to the little tradition, Sanskritization, above all, describes an empirical process in cultural
change, and has been most widespread.

SubQuestion No : 142

142
Q The processes of urbanization should not be associated with forces of modernization in
metropolitan urban centers-
1. Unilaterally
2. Bilaterally
3. Multilaterally
4. Unrelated with each other
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3421234818
34212318761
34212318762
34212318763
34212318764
Answered

1

Comprehension:

The process of urbanization should not unilaterally be associated with forces of modernization or
secularization, even though in some limited sense, as stated by Milton Singer and R. Redfield, in
the metropolitan unban centers as growth occurs from the stage of primary (orthogenetic) to
secondary (heterogenetic) urbanization, traditional literati may be transformed into professional
intelligentsia, whose function in the changed circumstances may be to mediate between tradition
and modernity. Urbanization even in the ‘secondary’ phases may strengthen the sinews of the
Great tradition because the communication channels which otherwise could be used for
transmission of modern values, such as modern means of transport, press, radio, sound
amplifiers, etc. are used to further the diffusion of the value system of the Great tradition. Every
step in the intensification of communication thus means not only a benefit to modernity but
equally, or probably more than equally, a benefit to the cause of the reinforcement of the Great
tradition. Cultural renaissance and reformation as processes of change have relevance for Great
tradition. Their significance has been both textual and contextual. Sanskritization as a process of
cultural change has primarily a contextual significance; it is particularistic in origin and therefore
belongs to the little tradition, Sanskritization, above all, describes an empirical process in cultural
change, and has been most widespread.




SubQuestion No : 143

Q.143
What are the characteristics of sanskritization:
A. It has a contextual significance
B. It belongs to the Great tradition
C. It is particularistic in origin
D. it has been most wide-spread
Choose the correct answer from the options given below:
1.A.B,CandD
2. A, Band C only
3. A.Cand D only
4. B, C and D only
Options 1. 1
2.2
3.3
4.4
Question Type
Question ID
Option 1 ID :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

:McQ
1 3421234822

34212318777
34212318778
34212318779
34212318780
Answered

3




Comprehension:

The process of urbanization should not unilaterally be associated with forces of modernization or
secularization, even though in some limited sense, as stated by Milton Singer and R. Redfield, in
the metropolitan unban centers as growth occurs from the stage of primary (orthogenetic) to
secondary (heterogenetic) urbanization, traditional literati may be transformed into professional
intelligentsia, whose function in the changed circumstances may be to mediate between tradition
and modernity. Urbanization even in the ‘secondary’ phases may strengthen the sinews of the
Great tradition because the communication channels which otherwise could be used for
transmission of modern values, such as modern means of transport, press, radio, sound
amplifiers, etc. are used to further the diffusion of the value system of the Great tradition. Every
step in the intensification of communication thus means not only a benefit to modernity but
equally, or probably more than equally, a benefit to the cause of the reinforcement of the Great
tradition. Cultural renaissance and reformation as processes of change have relevance for Great
tradition. Their significance has been both textual and contextual. Sanskritization as a process of
cultural change has primarily a contextual significance; it is particularistic in origin and therefore
belongs to the little tradition, Sanskritization, above all, describes an empirical process in cultural
change, and has been most widespread.

SubQuestion No : 144

Q.144 .. . . L.
The Great tradition may become more strong in heterogenetic urbanization as a result of
1. constructions of more temples
2. changes in traditional dress code
3. diffusion of value system through mass media
4. door to door campaign of religious events
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
3421234820
34212318769
34212318770
34212318771
34212318772
Answered

3




Comprehension:

The process of urbanization should not unilaterally be associated with forces of modernization or
secularization, even though in some limited sense, as stated by Milton Singer and R. Redfield, in
the metropolitan unban centers as growth occurs from the stage of primary (orthogenetic) to
secondary (heterogenetic) urbanization, traditional literati may be transformed into professional
intelligentsia, whose function in the changed circumstances may be to mediate between tradition
and modernity. Urbanization even in the ‘secondary’ phases may strengthen the sinews of the
Great tradition because the communication channels which otherwise could be used for
transmission of modern values, such as modern means of transport, press, radio, sound
amplifiers, etc. are used to further the diffusion of the value system of the Great tradition. Every
step in the intensification of communication thus means not only a benefit to modernity but
equally, or probably more than equally, a benefit to the cause of the reinforcement of the Great
tradition. Cultural renaissance and reformation as processes of change have relevance for Great
tradition. Their significance has been both textual and contextual. Sanskritization as a process of
cultural change has primarily a contextual significance; it is particularistic in origin and therefore
belongs to the little tradition, Sanskritization, above all, describes an empirical process in cultural
change, and has been most widespread.

SubQuestion No : 145

Q.145 As growth occurs from primary urbanization to secondary urbanization, in the metropolitan urban
centers the tranditional literati are transformed into
1. Labour class
2. White collars
3. Professional intelligentsia
4. Semi-skilled workers
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

McQ
3421234819
34212318765
34212318766
34212318767
34212318768
Answered

3




Q.146
What was the aim of improvement approach in colonial period?
1. to encourage the farmers to adopt non-agricultural occupations
2. to encourage them to grow only certain specific crops
3. to encourage the farmers to grow any type of cash crop
4. to encourage the farmers to grow indigenous crops only.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

Comprehension:

There are broadly two different approaches to rural planning in the Third World: the improvement
approach, which aims to encourage agricultural development within existing peasant production
system, and the transformation approach, which attempts to establish new forms of agricultural
and social organization, and which makes a radical break with existing system in terms of scale
of operation, production techniques, and socio-legal structure. The improvement approach was
especially characteristic of the development policies pursued by British colonial government in
Africa, India and elsewhere. Under colonial rule extension works as often coupled with the
enforcement of various administrative ordinances to prevent soil erosion or to encourage the
cultivation of certain crops. Hence, general incentives to production were combined with
principle of “persistent persuasion”™. The cases of non-observance were reported to authorities for
court action. Various governments encouraged the marketing of these crops through state
agencies or cooperative societies composed of basically small farmers for selling their produce.
Thus, the colonial governments were willing to assist in developing an infrastructure concerned
with distribution as well as production.

SubQuestion No : 146

McQ
3421234824
34212318781
34212318782
34212318783
34212318784
Answered

3




Q.147
How was soil erosion prevented during colonial period?
1. launching govt projects by the govt. departments
2. by voluntary organizations of the area
3. by enforcement of administrative orders
4. by making appeal to peasants
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 4 ID :
Status :
Chosen Option :

Comprehension:

There are broadly two different approaches to rural planning in the Third World: the improvement
approach, which aims to encourage agricultural development within existing peasant production
system, and the transformation approach, which attempts to establish new forms of agricultural
and social organization, and which makes a radical break with existing system in terms of scale
of operation, production techniques, and socio-legal structure. The improvement approach was
especially characteristic of the development policies pursued by British colonial government in
Africa, India and elsewhere. Under colonial rule extension works as often coupled with the
enforcement of various administrative ordinances to prevent soil erosion or to encourage the
cultivation of certain crops. Hence, general incentives to production were combined with
principle of “persistent persuasion”™. The cases of non-observance were reported to authorities for
court action. Various governments encouraged the marketing of these crops through state
agencies or cooperative societies composed of basically small farmers for selling their produce.
Thus, the colonial governments were willing to assist in developing an infrastructure concerned
with distribution as well as production.

SubQuestion No : 147

MCcQ
3421234826
34212318789
34212318790
34212318791
34212318792
Answered

3




Comprehension:

There are broadly two different approaches to rural planning in the Third World: the improvement
approach, which aims to encourage agricultural development within existing peasant production
system, and the transformation approach, which attempts to establish new forms of agricultural
and social organization, and which makes a radical break with existing system in terms of scale
of operation, production techniques, and socio-legal structure. The improvement approach was
especially characteristic of the development policies pursued by British colonial government in
Africa, India and elsewhere. Under colonial rule extension works as often coupled with the
enforcement of various administrative ordinances to prevent soil erosion or to encourage the
cultivation of certain crops. Hence, general incentives to production were combined with
principle of “persistent persuasion”™. The cases of non-observance were reported to authorities for
court action. Various governments encouraged the marketing of these crops through state
agencies or cooperative societies composed of basically small farmers for selling their produce.
Thus, the colonial governments were willing to assist in developing an infrastructure concerned
with distribution as well as production.

SubQuestion No : 148

Q.148 . . .
In what ways transformation approach to development was different from improvement
approach?
1. It emphasized on the principle of persistence persuasion
2. It attempts to establish new forms of agricultural and social organizations
3. It was interested in continuation of existing system of agriculture
4. It operates at a small scale in agriculture sector
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
3421234828
34212318797
34212318798
34212318799
34212318800
Answered

2




Q.149
By whom the strategy of improvement approach was implemented.
1. By French Government
2. By British Government
3. By Spanish Government
4. By American Government
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

Comprehension:

There are broadly two different approaches to rural planning in the Third World: the improvement
approach, which aims to encourage agricultural development within existing peasant production
system, and the transformation approach, which attempts to establish new forms of agricultural
and social organization, and which makes a radical break with existing system in terms of scale
of operation, production techniques, and socio-legal structure. The improvement approach was
especially characteristic of the development policies pursued by British colonial government in
Africa, India and elsewhere. Under colonial rule extension works as often coupled with the
enforcement of various administrative ordinances to prevent soil erosion or to encourage the
cultivation of certain crops. Hence, general incentives to production were combined with
principle of “persistent persuasion”™. The cases of non-observance were reported to authorities for
court action. Various governments encouraged the marketing of these crops through state
agencies or cooperative societies composed of basically small farmers for selling their produce.
Thus, the colonial governments were willing to assist in developing an infrastructure concerned
with distribution as well as production.

SubQuestion No : 149

McQ
3421234827
34212318793
34212318794
34212318795
34212318796
Answered

2




Comprehension:

There are broadly two different approaches to rural planning in the Third World: the improvement
approach, which aims to encourage agricultural development within existing peasant production
system, and the transformation approach, which attempts to establish new forms of agricultural
and social organization, and which makes a radical break with existing system in terms of scale
of operation, production techniques, and socio-legal structure. The improvement approach was
especially characteristic of the development policies pursued by British colonial government in
Africa, India and elsewhere. Under colonial rule extension works as often coupled with the
enforcement of various administrative ordinances to prevent soil erosion or to encourage the
cultivation of certain crops. Hence, general incentives to production were combined with
principle of “persistent persuasion”™. The cases of non-observance were reported to authorities for
court action. Various governments encouraged the marketing of these crops through state
agencies or cooperative societies composed of basically small farmers for selling their produce.
Thus, the colonial governments were willing to assist in developing an infrastructure concerned
with distribution as well as production.

SubQuestion No : 150

Q.150
With what the extension work was coupled during colonial period?
1. with humble request to farmers
2. with coercive power
3. no control over peasants
4. radical changes in organization of agricultural activities
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
3421234825
34212318785
34212318786
34212318787
34212318788
Answered

2




